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s#v DIRECTORATE OF SCHOOL EDUCATION
al TAMILNADU

11JPCM08 | JEE PRACTICE QUESTIONS B
Time: 1.15 hrs
(2023-24) (TEST-8) Total Marks: 180
General Instructions: YOUTUbE/ Akwa Academy

1. The test 1s of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A body of mass 10° kg moving with speed
2 ms™' collides with a body of mass 15 x 10° kg
inelastically and sticks to it. Then loss of kinetic
energy of the system will be

A)5KJ B) 15 KJ

C) 1.875KJ D) 10KJ

2 ms' GaussHev BHE@L 100 kg BlemMUETET
@@ QUITIHET 15 x 10° kg MBlemMU6T6T L0MHE MTTH
QUIMBEBLeT WLFWmm GCLrmsHe) enLbS
SSVLET @RLINE QsmeTHImS  erenileu
2iemLILer @ W&ES ,mmedley gmuGID @LoLiL]

A) 5 KJ B) 15 KJ

C) 1.875KJ D) 10 KJ

2. Two particles A and B, move with constant
velocities (V,) and (V,). At the initial moment their
position vectors are (r,) and (r,) respectively. The
condition for particles A and B for their collisions
IS

C)h —H=V —W
= — — —
D) 12 .. Y27 W
=] |va—w

A LDMHDILD B 6T6OTM @) SI&6T&6T (V IHDILD V)
eTeoTm Frmeor HenFCausHSH6V 68 (H S 60T M 6.
LT 5 600T 5 &) 6V 26U Ml 6or 51606V
QeusL &6 emmGw () wommid (f) G
6T60T16V A LDMMILD B SI&6TS6r 60T GLDITS 8 & & TeoT

5] L1 15 & 60 60T
A) IV = 1.V,
e — — -
B)I'l XVi=1 XV;

- e s ]
B =V V2

D) E IE L\ E‘E
|I'1"‘I'z| |V2_V1|

3 If two bodies stick together after collision and
move as a single body, the collision 1s said to be

A) Perfectly elastic
B) Perfectly inelastic
C) Elastic

D) Inelastic

Cunss&Ll  Wer @oeor()  QUITIHETSET
Q6TMMTEH RLINEC&ETer(H CT QUITIHETTS
B&SIBHSMTEV, {HSH GLOMTSH6V GLOMH6v
6TETM S MLILIB B M S,

A) W LS

B) L WOLFlwimm
C) LBOLE

D) WO Slwmm
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4 A ball of mass M falls from a height h on a floor
and 1ts coefficient of restitution 1s €. The height
attained by the ball after two rebounds 1s

A) eh B) e*h

C) h/e? D) eh?

e O FwlerfliiL) @ etorssin Q& mevorL M mlemm | eTer
Uubg e h 2wWrSHAEhs Soule
lWHEMS. QUerh (M SIETETL 36D HS
UmS Shs UHS 4emLHS 2 WD

A) e’h B) e*h

C) h/e* D) eh?®

5. A ball of mass m collides with a wall with speed
v and rebounds on the same line with the same
speed. If the mass of the wall 1s taken as infinite,
then the work done by the ball on the wall is

A)0 B) 1/2 mv?

C) mv? D) 2my

m Blemym G\&MevoT L LIG S 6260TMI v B6U 8 & H 6V r6UlT
eeTmlev CLOMTH 2GS Causs T 6 26S CHITL Q60T
alwms GloLuuUs ma. seurfler mlenm weiled
6Te0T QIGITEuOTLITEY, Sreummleor WS LBHS QFULIS
Geuemev

A) 0 B) 1/2 my?

C) mv* D) 2myv

6. A mass of 10 g moving with a velocity of 100
cms™' strikes a pendulum bob of mass 10 g The
two masses stick together. The maximum height
reached by the system now 1s

A)S5cm B)25cm

C)0 D) 1.25 cm

100 cms™ HenFGaUsHSHev GFeLalD 10 g BleMM
60Tml 10g Blemm GG ITEUOTL. 2ETF 6V (&H600TL9.60T LG
CuMa®mma. @ueor(h BIEMMSEHID  660TMITSH
QL1985 QS TETH 60T MeT. SMHCUMSI @) H S 26 LDLIL]
2|60 L_HSI6M6T GILIIHLO 2 WL

A)5cm B) 2.5 cm

Q)0 D) 1.25 cm
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7. The bob A of a simple pendulum 1s released when
the string makes an angle of 45" with the vertical
It hits another bob B of the same material and
same mass kept at rest on the table. If the collision
1s elastic:

u‘

o A

B

A) Both A and B rise to the same height

B) A comes to rest and B moves with the same
velocity of A

C) Both A and B come to rest at B

D) Both A and B moves with the same velocity
of A

Seoll 21560 @TM60T 2aF6) G600T(H A ILETS
QEFRIGSHE  Hansuley 45  GHmeors H v
@ alssuu®mns. ©& Cuenswiler WS
MmaSSULULL 968 Bmleovm wWMHOWL CH
GILITHETTEVITEOT LOMGMT(H 2ENF 6V (&600T(hH B-@) 60T
W CLMERMS. GBS CLMse LILF GLMsHeums
QGBHS 6V

ﬁﬂ

o A

B

A)A LDMMID B 510 2 WTHMS 2L H M.

B) A @l Blemevenl L FMS LMmMID B
26018 A WiletT HemFCauFHS T 6L HHHHP MS.

C) A lnmmilh B @ evor(h\LD B-6V 62116 [Blemevem
LB M.

D) A oMM B @nevor(hild A 60T HemnFGous Hev
QFaLVHEMSI.

8. A bullet of mass m moving with velocity u passes
through a wooden block of mass M = nm as
shown 1n figure. The block 1s resting on a smooth
horizontal floor. After passing through the block,
velocity of the bullet becomes v. Its velocity
relative to the block is

=

s
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1+ =
A) ( Iln) B) vnu
C) (1+n)v—u D) (I+mu+v
n n

U HensFCassHH ey HEHEIHLD m Blemm Q& meoorL
G& ML LIT 6260TMI LIL & H 6V 2_6T6 LIl M = nm [Blemm
Q&MeooTL. OIS Sl aublmg: QEFHRMSI.
L0J& &L 60 L WITETS 62(IH 6L (LD 6 (Lp LI LI IT6OT
PemLDL L SHmSHeL euialley 2 6Temgl. LIS
SLeomLenw &HLbS UVUIme GCsmiLmeller
HenFGasld v LS5 LMTMIHME 6Tenflel B
D& SLeLemWL QUTMISS GsmLLmeller
5 e &FGeusLd

777777
(1+n) v—u
A) = B
C) (1+n)v—u D) (1 +tn)utv
n n

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C) 3u

D) u/2

u HmsCassHev BHSHMW m  BHleOMU| 6L
QU QUITIHET elle] mlemevullev 2 6Tem  3m
BlemmWenLw QUITBEBLeT WLEF Gumsey
2L FH MG 6Tevl 16V GLOMSH GG L LI 60T 8&560TLO T60T
QUIT(HET H&HHLD HemFGeaussLD.

A)u/3
B) 2u
C) 3u

D) u/2

10. A billiard ball moving with a speed of 5 ms™
collides with an identical ball, originally at rest
[f the first ball stops dead after collision, then the
second ball will move forward with a speed of

www.Trb Tnpsc.Com

A) 10 ms™ B) 1 ms™

C) 5 ms*! D) 2.5 ms™!

Sms”! GausSHev QFeusln Llevellwil ubs
QR6TMI, QFTLESSH e@ule mlemeuuiley

2 6ol 2185 wWrHFlwmer UBS 660TDIL 60T
CUMasHma. CLTSGHEGL er WwsHev UBS

BlemevWns BIM&B M 6Tevflev @) etorLMeug LGS
6T CeoTMSH HS(HLD CeudsLD.

A) 10 ms™ B) I ms™

C)Sms! )2 yms

11. A ball strikes a horizontal floor at 45°. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 112
B) 1/4
C) 1/2

D) 1/2+2

LFS eerm  Seopuler WEs HenLSser
Semguilev  45° GmmeuiSEHeL  CLMHPMS.
Cmsedletr GUIME 25% @QUESH HMeN6V S
QLsEHIME eeaflev WLFWelllL &Georss5ems
SITE00TS::

A) 1/42
B) 1/4
Q) 1/2

D) 1/2\2

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What 1s velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™ B) 300 ms™

C) 200 ms™ D) 400 ms™

20 g mlemm WML 600 ms! HenFGoudHSIL 60T
B&ML CHMTLLMT eerm &SWilm eernlev QFGTRIE S
Q& MeTOTIL(F&HGLD 4 kg Mlemmulemer SLemLuller WO
CuMsIHmsl. CLMEEEGL e sLemLwimers 0.2 19
2 WD 2 Wibsme SLenLenw L@ QeueflGw
(@B CUMSs oL LmelletT 5 emaGeudsLD 6T60T60T?
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A) 150 ms™ B) 300 ms™

C) 200 ms™! D) 400 ms™

13. Ablock of mass 0.50 kg 1s moving with a speed of
2 ms™' ona smooth surface, it strikes another mass
of 1 kg and then they move together as a single
body. The energy loss during the Collison 1s

A)0.67] B)0.16]

C)0.34) D) 1]

050 kg Blemm Q&MEOOTL 6@ &L 60 WITETS
6l (WU WLILImeoT LTLILI6L 2 ms™ eTeorm GousH &S 6v
B&HGH WS, 4G LOHAOTEG 1 kg Blenmuller LSz
CGMH Gy QUMIBETTSH BHHHRMSE 6revflev
GLongedler GUME gFMHUIL L MMV GLOLIL

A)0.67] B)0.16J

C)0.34] D) 1]

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A) 0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu’

u GaussSHev HSHIHLD SISGET QTM U6
Blemevuiley 2 6iTem 2m BlemMULETET MG MITIH
Qumerfleor g W WLAWDHM GCMsedey
TFHLUOSPMS erevflev Gomgedler GUME gFmLI(BHILD
MMV @)LPLIEDLI &ITE00TSH

A) 0 B) 1/3 mu’

C) 172 my? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after

elastic collision will be
A) 13 ms™ B) 11 ms™!

C) 9 ms™ D) 12 ms™

www.Trb Tnpsc.Com

em Uil 2wrsHedmns  10ms
CausSH 6L AL LBS eTm Tms' CaushsH ey
Gev CBM&ESH BHIHLD OleTEHTSHH UI6T H6emsHSH 6V
CMaIHMmE erenflev LBS WLF CrseenL B
GGV RLDL|LD HlemnFGaussLD.

A) 13 ms™ B) 11 ms™

C) 9 ms™! D) 12 ms™

CHEMISTRY Q.No. 16 to 30

16. The radical Q— CH_- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors

B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons
D) 7P — orbitals & 6 unparted electrons

A <2 ——
S60T60 LOLL|60)L_LLI S5 6J @l 60T60T 16V,

A)7P Tl Lmev&seT WwHmID 7 Saflss
6TG16V S LT ITE0T & 61T

B)6P =urgUllLmeuser wWmmn 7 SHeoll&HEsS
6TE6V &S LT TEOT & 61T

C)6P iUl LmevSEeT WmMID 6 SflsHs
6TQGV S L_[J IT6OT S 61T

D) 7P UL LITV&GET WmmID 6 SHeflss

6TGIEV& LT TEOT S 61T
7. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH

B G0
CH,~C—
I

CH

3
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CHFI
C) >CH—CHE—
CH,

D) CH,~CH-CH —CH,

@M &l CFrwgHev NCFm  LIwLemLev

2 mILILYetT emLOLIL] 6T60T LIS
A) CH,~CH,-CH,-CH,-

CH.
B) e

CH,—C—
I
CH

3

CH,
& > CH—CH,-
CH,

D) CH,—CH-CH —CH,

18. Some meta directing substituents 1s aromatic
substituents are gives. Uterich one 1s most
deactivating?

A)-COOH B) -NO,
C)-C=N D)-SO.H
SCIMGLLI9 & LS eS B 6Vl em 6T S5 61T 16V

Fev QULLT eaf¥l BpLSSID QFTGHH &6
SrLuL (BeTerer. aummley 678l W& H SIms
QIF W6LH Mem 6T G0 MSHMS!.

A) -COOH B) -NO,

C)-C=N D) -SO.H

19. Which of the following organic compounds
has same hybridisation as i1ts combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

UletteuLd &iflln GFFLoWNLD, S5speml W 6TflgHev
allemeoTLIQUIT@GeTTHW CO, b @Gy eallgLomeor
FHeVLILI60TL0 TS &6m 6V G\LI M MI6TET6e0T?

A) &G & eor B) FF &60) & 60T

Q) FF& 5601 D) 61855 60T T6V
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20. Which one 1s most reactive to wards nucleophilic
addition reaction?

— CHO
A)

©)

|
C-CH

&

CHO

C)

~9)-

CH

CHO

D)

<)

NO

2

H(H&HE6LT CFI&Hem& allemenrWilev W& H HLIOMSH
allemeor L|if] LD S560Tem Lo 60) L WIS 6TSI?

CHO
A)

NO

C-CH,

5

CHO

C)

~0)-

CH

CHO

(o)

NO
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21. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@/

B) CH,—CH,~CH_—Cl

CH,C|

CH,
C) |

CH,~CH—CH,—Cl

CH

3

D) H—C—Cl

CEHS

KOH Q& metor(h) BrmmuUGSHG&SLILD Gungl LlereusLd
Gormsefley 68 &GRWML  SHeVehel WMEGLD
allemenTs @& 2 L UGS mS?

CH,CI
NOS
B) CH,~CH,~CH,~CI

CH,
C) |
CH,—~CH—CH,—Cl

22. In an SN, reaction as chiral Centres there 1s

A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention

D) 100% inversion
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6056V 6m L0LILY 60T &I SN, el 6t 60T LI 60T HMTEGLD
A) 100% &rLAILOIT L &6V60)6U LTS 6V

B) @iemLoLIL] Blemev QLIMISEME (retention) eTH\ [

FOOFIWMHEL (Inversion) HHLOMTSHEVTEV
UGS & L0 LO T L & 606061 WM& (& & 606V
2 (HEUMHGSHMS.

C) 100% 2emLDLIL] [Blem6v GlLIMmISS6D

D) 100% <2J6mLDLIL] 6TE [T LDMI S 6V

23. Twopossiblesteiostructuresof CH,CHOHCOOH,
which are optically active are called.

A) Diastereomers B) Atrop Isomers

C) Enantiomers D) Mesomers

eeflé &pmoIL UeoryemLw CH,CHOH COOH
e @@ WUUFInmeor 6emDLIL|S6T 6TelU6 T
DL & &L ILIBY S 60T 60T?

A) LwmenviaflGwimnrg

B) LG mU G&FTLOI&EIT

C) @) coTedT FIGWIITLOT S 6T

D) LAG& MO IS ET

24 Consider the following compounds hyper
conjugation occurs in
CH, ph
P e |
I) CH,—C=CH—o) [1) ph—C—ph
[1I) @\
CH,
A) I only B) II only
C) III only D)l &1l
S etreu(meueTeumnlev 2 6o GFFLOLD 6TS7?
CH, ph
| |
[) CH,—C—CH—0) [1) ph—C—ph

1) @\
CH

2
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A) | GO B) Il (B

Q) Il L @D D) | Lo LD Il

25. Structure of the compound Which IUPAC i1s 3 —
Ethyl, 2 — hydrony 4-methyl hex -3-en-5-Inoic
acid?

OH

L
7 N

COOH

COOH

=

O
Al

COOH

a

@)
o

COOH

>
é&

IJUPAC QUWIT B - eT&H6L -2 emamiqrmserdl —4-
QUEHL Qam&eny  -3-Fer  -5-23GuIiment|S
2JLl6VLD 6TEOTLIM S GMISHE D 6mIDLIL] 6TSI?

&
o
22

&

COOH

COOH

@
L

COOH

\®

@)
e =

COOH

O
?&

26. Which of the following statements not correct for
a nucleophile.

A) Nucleophile 1s a Lowis acid

B) Ammonia 1s a nucleophile

www.Trb Tnpsc.Com

C) Nucleophiles attack low electrons density sites

D) Nucleophiles are not electron seeking

sMm&sar  allemerl  Qumeflemerry LmA

&S6UMITET &H(HSHS!?
A) s suruileny gjLdlevld
B) LG LOMenfIWIT62(H & (H& 6L T 660 60T LIQ LT (H 61T

C) 6TQEVELITITET Q& M6y GHemMmeUTerT @)L HeMS
SIS G0 &60Tem LD 6TeT 6lement LI LR 6T

D) @ emel 6TRI6L S LT TeD) 60T
Q&F6vaIH VM6V

Colq

27 Which of the following biphenyls 1s optically
active?

fe—

S
©

FL
-

%
ol

)
an

Ll

.
O

I3

£

Br Br

&

Sereumid @@ Liemereuserfley eperfls grommild
LI600T L|60) L LI &1 ?

(—

©
©

Q-
am

L
)
;

Z
O

I

&

Br Br

&
&

[ I
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28. Which among the given molecules can exhibit
tautomerism?

§) )

1)

A) I only
B)I & III
O)l&ll

D) Il & 111

191 657 62 (1H 6 60TEU M Nl 6L @) WIS FL0Mlem6v
rmMlw b Q&meor(hleTer @& TLOLD 6T&7?

) 1)

— ph
ph

11§

A) Il LG
B) | LDMouLD Il
Q) | bmoun i

D) Il omomuwo |1
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29. The IUPAC name of the compound

o O

N

A) 5 — methyl — 4- Oxohexo-2en 5-al

B) 3-keto-2-metlzlhex -5 enal
C) 3-keto-2 methyl hex — 4 enal
D) 5-formyl hex -2-en-3-one

SOILILL GsrngH et IUPAC QILIWIT 6T60T60T?
O O

i

A) 5 QLG H 6V 4 9L,5Cen T Qe en 2 FFedT 5 34,6V

B)3 BLGLIT 2 QH6L Q&6 5 FFeiT 21,6V
C)3BLELT 2 QBH6L QaQq&en 4 FFEiT 24,60

D) 5S-UIMJemL06D GlaQ &6 2 FFe0T 3 6260T

30. The most suitable method of separation of 1 : 1
mixtne of ortho and para - nitrophenols

A) Crystallisation
B) Steam distillation
C) sublimation

D) Chronmatography

QU FTHCHT MM UTTT enBLETM L6rmeusser
FBweumnlerr 1: 1 Hevemeuenwl LNfl&RQ5H& G LD
Frflwmeor (Wemm?

A) LU &HLOMHH6V

B) Bomallwimev SmUFF 6ulq &560
C) USMISLOMTSH6V

D) euevorevor Liliflemas
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MATHS Q.No. 31 to 45

31. Ifinthe expansion of (1+x)™ (1-x)", the co-efficient
of x and x* are 3 and —6 respectively then the
values of m and n are

A)9, 12
B) 8, 16
C) 12,9
D) 13,9

(I+x)™ (1-x)" eteorm elfleunEsEH 6L WemmMEW
X, ¥ QB Weummler QSHWEEHET 3, -6 61601160 M, n
6T6UOT S 61T 60T LD LIL| S 6iT

A9, 12

B) 8, 16

Q) 12,9

[D) 3.9

32. The last two digits of (27)*" are
A) 01 B) 02

C) 03 D) 04

(27)7 —60T GeL T @) @) 6V& & HI &6lT
A) 01 B) 02

C) 03 D) 04

33. (z+/z'—1)'+ (z—y2'—1)%is a polynomial
of degree
A)5 B) 6

Cy7

(z+V2'—1)°+(z—V2'—1)° etedrm LIV MILILIG

Camemeuuiledr LILQ

D)8

A) 5 B) 6

Q)7 D) 8

www.Trb Tnpsc.Com

34. The sum of the

_— 1 2017 ]
(1o = 0is

roots of the equation

2017 l_ o .
T +( 5 ;1:) = ()
eLO6VEI S 61T l60T For(b) &6V

6T60T M) & LO 60T LIITL_LQ 60T
A) 504
B) 400
C) 304

D) 404

35. Given'T, inthe expansion of (1-3x)® has maximum
numerical value, the range of x 1s

afbd
B)’ f::c:,_g—l U{%ﬂm
O | 54]

il 1

(1-3x)¢ eteorm elfleunsEssHeor WLIQLIIH 6Tevor
LS 2 eTem 2 mILiL T, eTeofl6v x-60T efF&F&L0

olid
B) [_m}_g—I]U[%gml

(2 1

—1 —2] [2 1
D)7 =15]U[ﬁ=11

2022

36. Fractional part of the number 41 = Isequal to
A) 8/15 B) 1/15
C) 14/15 D) 4/15
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2022
415 6T6OTD 6T6v0T600T 60T LI 60TenT L LIGH)

A) 8/15
B) 1/15
C) 14/15
D) 4/15

37 If the number of terms in the expansion of
(1-4- 14 %)n 1s 17 thenn is

A)S B) 9

C) 17 D) 16

(:.n F 13k %) et ellfleunsssHev 2 6mer
o miLIL&e6rfledr eTetoT6n0l | &H6m& 17 6T60T16D n=
A) 8 B) 9

&) 17 D) 16

14
38. The co-efficient of x* in = — 32 1S
2

A) 405/256 B) 504/259
C) 450/263 D) none

(% — %)m ereor elifleunss 58 5 60 X! —60T C&H LD
A) 405/256 B) 504/259
C) 450/263 D) 61516 L8l6LEm6L

39. The largest term in the expansion of (3+2x)*
where x=1/5 1s

A) 4, 5th term
B) 5, 6th term
C) 6, 7th term

D) 7, 8th term

10
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(3+2x)"  ereorm  elfleunHssH 6V
Wsuauiflwu 2 oy

x=1/5-6V

A)4,5 210 2 MILIL|&6IT
B) 5,6 Q0 2 _MILIL|&6IT
C) 6,7 Q0 2_MILIL|S6IT

D) 7,8 &LL0 2_MILIL|&6N

40. In the binomial expansion of (a—b)", n=5 the sum
of 5th and 6th terms i1s zero, then a/b 1s

d 6

C)n—4 D)n—S

(a—b)", n>5 eteorm FEouLIL allifladlev 5 LDMHMID 6
D 2. milissefler FaGH6v LLsSluin ereofley
a/b-60T LOBILILY

=g

A) o

5 6
n—4 e n—2>o

0
41. The co-efficeient of x'' in the expansion of (1+x7)*
alsbaclintl £X71T 15
A) 1051
B) 1106
C) 1113

D) 1120

(]+K2)4 (1_|_}{3)T (1+}{4)I2
x'1—60T GI& (LD

eteorm  elfleunsss 5 60

A) 1051
B) 1106
L) 1113

D) 1120
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42 The co-efficient of t* in the expansion of ( L=t )3

. L
1S
A) 12 B) 15
C) 10 D) 14
(11:%; )3 eteorm eflfleflev t* -60r Q&L
A) 12 B) 15
C) 10 D) 14

43 If n 1s positive integer and if (1+4x +4x*)" =

Eﬂf - where a’s /are (1=0, 2, 3, .

numbers then the value of QZ @z 1S
r={

A) 91
B) 9"+1
C) 92

D) 9742

n 62 (15 LA 60) &5 (LD (LD 6T600T, ( 1+4x+4x3)" = _Zm:c'” AIAGED

r=1

(i=0,2 3, .... 2n) QLD 6TE00T 856IT 6T601 16V QZ 2y - 60T

&L
A) 97-1
B) 9"+1
Q) 92

D) 9"+2

44. Ifthe secondterminthe expansiﬂn(”ug + \/ﬂ—%l)
is 14a°” then the value of %ﬂ IS

A) 4
B)3
C) 12

D) 6
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(13\/5 F vﬁ)ﬂm@rm aNfleurd s H6v @) JeoTLITLD
2 miLiL 14a5”—" 6T60f 16V %? -60T L0S\ LIL

A) 4

B) 3

) 12

D) 6

45 The fist integral term in the expansion of
(V3+V2) is its

A) 2nd term
B) 3rd term
C) 4th term

D) 5th term

(V3+12) ettty N lUNEEEH O WS (WOAD
6T600T 2_ ML LY

A2 02 miLlL]
B)3 02 miLiL]
Q4402 miLIL]

D) 5 @uih 2 mILiLy

YouTube/ Akwa Academy

Copyright @ THE ALCHEMIST CONSULTANCY

Scanned with CamScanner


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

